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. CoST ACCOUNTING
| Paper : I 5
| (Accountancy Major)
' Full Marks — 80
o Time - Three hours

The ﬁgures in the margin mdrcate ﬁ111 marks
for the questlons :

L Choose the correct options from the followmg
o lXIO—IO

(a) Cost centres are created for
@ mventory vallJatlon |

© (i) product pricing’
S (m) control and ﬁxatxon of responsnblllty

(w) revenue generatlon
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(b) Re-ordenng penod or lead tlme means :

‘(i) time requu'ed to raise purchase requ1sr--’ o
' . tion S

(u) time needed to process an order 4 . = l

~ (iii) time needed to place an order and
' reeelve ‘the material

(1v) the mterval between the date of produc- "
tlon and the date of recelpt of material.

©) For a work order the standard time and time
taken are 20 hours and 15 hours respectively.
. -Time rate bemg Rs. 2 per hour. Total wages
. 'payable under Rowan Premrum Plan will be = - .

@) Rs. 3750
" (i0) Rs. 47.50
(i) Rs. 27.50
*~(1v) Rs 17. 50

(d) The charging of discrete, 1dent1ﬁable items of
© . cost to cost centres or cost units is known

- (i) Absorption of overhead | -

| (ii)"Allocation“ of ov_erhead‘ o
(i) Apportionment of overhead -
- (iv) Alignment of overhead.
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(e) Wage sheet is prepared by the

® Personnel department

(ii) Payroll department o -
(i) Engineering departln_ent |

(i‘t) Time-keeping denertinent.

(§ Loss incurred in an incomplete contract is
transferred to. A/c

"(l) Proﬁt and loss
(11) Contract
e (i) Work certlﬁed
(iv) Coritractor
- (® In _Process 'costmg, the “abnormal loss is

treated as - cost and . written off to
" Profit’ and Loss Account

'(l) Unit
‘(11) Period |

(iii) Process

- (1v) Future
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(h) The change in costs due to changes in the
method of productlon is known as -

| . (1) Margmal cost -
(ii) Replacement cost
(iif) leferentlal cost
(1v) Opportumty cost

(i) Which one of the followmg item is not

" included in the annual carrymg cost of
- inventory ? L

(i) Insurance cost. |

= (11) Amount of interest payable on the money
' locked up in the matenals

- (iii) Cost of storage

(iv) Cost of staff posted in the purchasmg B
department

(i) Examme the correctness of the statements
~ given below :

I Under-absorptlon of overhead means the
“amount by which the absorbed overheads
fall short of the actual amount of

. overheads mcurred :
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II. . Over-absorptlon of overhead means the . -
- excess of overheads absorbed over the
actual amount of overheads mcurred

| (l) Statement I is correct
) Statement I is correct.

o (111) Both the statements I and II are
- A B correct.

(1v) Both the statements I and II are
' mcorrect
2. Answer the followmg questtons . 2><5"10' ‘
: (a) State two. objectlves of Cost Accountmg
. ®) If the minimum stock level and average stock
level of raw material A’ are 4, 000 and 9 ,000.

‘units respectively, find out its “re-order
‘ ’quantlty ’ '

| (c) What is meant by abriormal 'ideaI time 7 :

AL_ANN

S d State two basrc prmctples of process cosnng

E '-(e) What is meant by mtegrated accounts 7
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L 3. Answer any four of the followmg questlons

5x4=20

(a) Dlstmgulsh between cost control and cost‘

(b)

reduction. -

The capac1ty usage ratlo and the capaclty

‘utilization ratio in respect of a machine for

a partlcular month is 80% and 90%
respectlvely The available workmg hours in "~
a month is 200 hours

The break-up of 1deal time is as follows :

- Waiting for _|ob - 5 hours ,
vBre'ak do’vlrn . - 4 hours
Waltmg for tools 3 hours o

' Calculate the ideal tlme cost when the hourly

_ﬁxed cost of runmng the machine 1s_Rs. 8.00. '

(c) ~Expla1n the concept of ABC system as a

(d)

techmque of eﬁ‘ecuve matenal control

ABC Ltd closed 1ts accounts for the year v\ ,
ended 31st March, 2016. The profit shown =

in ﬁnanclal accounts is Rs. 3, 72 000 and for.
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o the same penod cost accounts showed a
- profit of Rs. 4,10,000. On comparison of
both. the ‘accounts, “the followmg stock' |
balances are appearing :

Cost Accpunts Fmancial Agcollmfs. .

Opening stock ‘ L o
of raw materials | 1,36,000 © | - 145000
Closing stock o , o h

- of raw materials | - 1,10,000 . |.  1,03,000 .
Openihg stoc;k.o,f V' ) 4 4
finished goods | 2,66,000 .| 2,58,000
Closmg stock of P , | o _
finished. goods 1 229, 000 2,23, o‘oow

. Additional mformatlon appeanng in the Fmanc1al '
_ Accounts : ~ :

Loss on sale of machinery Rs. '35,000 ‘

o Dividend received = Rs. 7,000
" Interest received - .Rs. 4,000

Prepare a Memorandum Reconclhatnon Account ‘
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(¢) In process B, 75 units of a commodity were

_ transferred from process A -at a cost of '

Rs. 1,310. The additional expenses incurred
by the process were Rs. 190. 20% of the units
- entered are normally lost and sold at Rs. 4
per unit. The output of the process was 70

units.. Prepare Process B Account and
' Abnormal Gam Account

® Wnte a short note on Absorptron of
overhead :

4. (i) State the steps involved i in thie installation of
- a costing system in a large manufacturing
company. = = : - 10
o o

" The books of Avinash Manufacturing Co.

- -presents the following data for- the month

of April, 2017 : .
. Direct labour cost Rs. 17, 500 bemg 175% of .
-~ works overheads

" Cost of goods sold excludmg admxmstratrve
- expenses. Rs. 56, 000. '

 Inventory accounts showed the followmg )

balances :
' - st Apnl 30th Apnl
'Raw material 8,000 10,600

Work-in-progress 10,500 14,500
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- 1st April 30th April
o ‘R. . Rs.
Finished goods - 17,600 = 19,000
| ;Ot}ier inﬁimation _ - |
. -Selling expenses Rs. 3 500 ’
General and admmlstratlve expenses Rs. 2,500
‘Sales for the month Rs 7.5_,000

‘Compute the value of materials. purchased and
also prepare a Cost statement. - 10

5. @ X L. is committed to supply. 24,000
bearings per annum to Y Ltd. on a steady
~ basis. It is estimated that it costs 10 palse
- as inventory holdmg cost per bearlng per
~month and that the set-up cost per run of
Lbearmg manufacture is Rs. 324,

What would be the ‘optimum run size for
bearing manufacture ? What is the minimum
'in\?entOry holding cost at optimum run size ?

(b) What ‘are the ‘various assumptxons in the -
“calculation of EOQ ? : 7+3—10
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Or

(a) What factors- are to be considered while
adopting a method for the pncmg of
matenals ? :

‘ '(b) State - two advaﬁ_tages of LIFO method of
o valuing ‘materials. ) ‘8+2=10

. A machme is purchased for cash’ at Rs. 9,200.
Its working life is estimated to be 18,000 hours
 after which its scrap value is estimated at Rs. 200.
It is assumed that : S . 10

(i) The machme will work for 1,800 hours
annually

(i), The repair charges will be Rs. 1 ,080 during
the whole penod of life of the machme

© (iii) The power consumptlon will be 5 units per
hour at 6 palse per unit.

© (iv) Other annual standmg charges are estlmated
"tobe: '
- (a) Rent of department (machlne occuples :

1/5th of total space). Rs. 780 '

. (b) nght Rs. 288 (12 points in the
deparunent, 2 points engaged in machine).
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(c) Foremans salary (1/4th of “his tnne
' occupled in the machme) Rs. 6,000.

(d) Insurance premmm for machme Rs 36 o |
-(c) Cotton waste Rs 60 |
Calculate machine hour rate.
or
- (A) Calculate the earmngs ‘o‘f onrkcr }lﬂdef 3 ,5': i
. (1) Halsey Plan | | |

(n) Rowan Plan from the followmg Pamcu' .
lars : ' : -

" (a) Hourly rate of wages guaranteed is
-0:50 per hour :

(b) Standard" time for producmg one
. dozen artlcles is 3 hours "

(c) Actual tlme taken by the worker t0
produce 20 dozen articles is 48'
hours o

(B) What could be the poss1ble effects of labour
turnover on cost of producnon ? 5

) '6]4(Senrbl) CAC'Ml o (11) [Tum over-




. The following was the cxpenditﬁre on-a contract =~

-~ of Rs. '12,00,000 commenced in April 2015 :

‘Materials . Rs. 1,20,000
"Wages  Rs. 1,64,000
“Plant ~ _ Rs. 20000
. General expenses © .~ Rs. 8,000

‘Cash received on account to 31st March 2016
amounted to Rs. 2,40,000. Retention money is

20% of the work certified, the value of materials

in hand at 31st March, 2016 was Rs. '10,000.

Prépare Cpntract Account: shoWing the pdsition'

- at the end of the year and the amount of the profit

which ‘might reasonably be taken to Profit. and
‘Loss Account after allowing. 10% for depreclatlon ,

- on plant. o

(a) Write a short note on mter-process transfer
pncmg in terms of process costmg ' 5

) (b) ‘State the features.of a .p,rocessv cost system.. | A
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